W=1200L1 W=1200LLF W=1200LLF 90~100 @
kv FL—IL(AL)
§7029 & @
70 PBFA_AYEL S E R (SUS) i i
25 45 M4 X 20 ‘ ‘
ryFL—ILZZIF(AL)
2] /| $6425 | | :
- T ISR AF 0 RR) | | AN
g 72| ] ‘ IP55CHD | | %HE ¥
—1 Fs | |
||
\ \ D6M T4 X4 (SUS) 1 ; 8
InN M4x 19 —— & 5z &8 &8 s V¥SL
I . L O
B VAT °
e BFAD
! | S2423T @
\ \ XAE(AL).
‘ ‘ S5545
o —wyn e
¥ . 24 | /325 55 TILEIATh—(AL) @
¥ b : ‘ TS400A-(80.100.120)
il
& . | FRAYE AL (P-SUS)
*
*| Wl o« | | M4 x 25
; IR
]! AL, S— (iE) FAEAL) FRBYERL (P-SUS) @
‘ \ / PS55MKN-C S5545 M4 X 25
- +R&yERL (P-SUS) FA(AL LIS vRAL FILSVAL T H—(AL)
\ \ M4 x 25 S5545 BKT31130 TS400A-(80.100.120)
} \ T#(AL) TIVEYAT U h—(AL) FHLT 5 vAL) M6y T F v MAL) Bt Bty (AL
‘ i S4430 TS400A-(80.100.120) \ BKT31130 AERILIME X 20(SUS) / PMP75WHA+PEPCHA
o -
< i FHLIS 7ok AL 45 HiBRF 72 H— (SUS)
: | BKT31130 // SGA-M8.”M8 X 35
8 /- RACAE/ A~ (HEE) &8 SR -2 AN v | -4 *ﬁ&?‘f@ U ToREryTGiie)
gh | [ PSSSMKN-C _ R e , 177”7”7”“, ,,7”7”7?7”,”7”7%3%. e K72ECNB
& o O OB oo 5 — @ o] 993 =l
vSL ¥ ” g ‘ ‘ ‘ — == - ) - 15— jj -
o — 8~ PR ISTIMELFRRN /| BTFAD TFHHAL Y FL—IL(AL) FSREYELY (SUS)
S ‘ IP55CHD S2423T S4430 S7029 M4 x 19
38 BERTUH— \
M12& 2 H LR (SUS) P=130LLF P=130LLF P=130LLF
/ THLT % 2 THLTE 2 THLTE 2| TR
HESEER{A =180LL £
¥FP=130LLF 50~65/50~65 ¥FP=130LLF 50~65 | 50~ 65 ¥FP=130LLF 50~65 [70~90] |20
SEEBIE SBIAT 1805 5 (280mm T L H—I AR, W=1200L4F W=1200LLF W=1200LLF 90~100
- W T MER XBEEVFRKPHEREICIVRGYEY.  FEm4IE XEXEHISrINIA T arTT,
JAN — 2 &£ B A I%4% — PN N = 3 3 354z B
| &t 8 ‘SONRAL -
ﬁ ~ % i | | B ﬁit:*i#/b W B | By | £E [STEA
ﬁ | et 2 = 88 2 W FLIERE EEEME # R (A3)=1/8,1/25
VAN _— B | | | 7y T BRI T SL-K-057029-T

#1%E B :2006.12.07 BEH: 2010.6.22 2033



